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a—F fh ik | Bk (kg) 2B | =@ g 2 i (BAD) |
Y3002 =4 (&H) B 6 3,758 1,080 238 238 | B bkg |
31700 % %~ 100 7, 668 864 756 702 | B 104 — %
31950 HhX M 3 864 86 86 86 | B 1048
31900 A X 9 4,482 648 540 378 | B 9kg
34330 £/ ) 54 7,333 32] 39 17 | B ™ 2704
34400 | k= k 11 594 54| 54 54| BW 1148
34400 k= k 102 13, 149 178 119 59 | BN 102kg ]
34460 (I =L EE 4 1, 750 97 97 97 | BN 183w 7
Y3058 HE k< k 26 12, 917 | 108 108 65| B 13073
34100 #AIK ‘ 20 3, 780 38 38 38 | B 100A
34140 [TUZEHT 12 2,916 19 49 19 BN 607 |
34200 /N 69 7,798 162 108 43| B 69kg
34500 E—= 1 20 2, 030 119 119 76| BN 20kg
36200 HEEhE N 93 4,876 65 54 13| BN 93kg |
36600 7-EME 70 6, 264 162 76 76| BA 70kg ;
34700 £5 657 L 17 1,09 22 22 3[Bm 55K |
34930 LA 51 10, 319 81 81 16 BN 1694
34980 ~bFE 6 1,118 70 38 38 BN 21K
35940 AEVETEAE | 44 33, 491 756 756 756 | BN 44kg |
34800 B< b 36 20, 876 65 59 19 BA 362% v k
37600 7 x 978 2 1,188 1,080 1,080 108 | B 2kg
44500 T % 6 648 108 108 108 | B 6kg B
Y4010 /PNESV 22 3,305 432 432 216 | B 11
Y4051 L /v Aumy 30 21, 060 702 702 702 | BN 301
47480 T U R A w 45 5, 832 140 140 119 B 451@
Y4003 Z=az—A o 6 1,296 65 65 65 BN 201&
49470 Nyim T —Y 44 35, 057 86 86 54| B 43718
71011 A7 L —35 60, 210 59 54 38R 1, 140K
71040 ENE I 2,398 65 65 54| B 3875
71120 25945 = 1, 804 27 22 22 | B 804
71150 LT 832 76 76 76 BH 113
21173 UED D - 135 | 27| 27 27 | B 5%
71184 fEasa v 3,186 49 43 3| BMN 7074
30100 72 I A 2L 52 6,221 157 157 151 | B 40K
30300 A% L 60 6,480 1,080 1,080 1, 080 I 64— A
30300 A% 8§ 50 594 | 162 | 108 108 | BBV 54—
31100 M3 2L 105 12,150 | 1,836] 1,836 1,458 E&F Tr—A
31100 H¥ L 15 1,944 1,944 1,944 1,944 B 17— %
31200 [LEE 4 4,536 4,536, 4,536 4,536 EIRB 17 —=
33500 T &% L 11 583 | 5] 5 5 | 1@ 10848
3810 FAEHE 4 2,160 108 108 108 BERE 2088
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31700 Fy Y | 200 10, 800 594 540 486 i 204 — %
31800 1EHMAEE ' 8 5, 832 162 162 130 BB 1048

31950 MRz ’ L 6 1,728 1,080/ 648 648 BERE ok —R |
31900 faX R 5 2, 160 | 216 216 216 ERE 1038 (500g) |
31930 - nE 3 2, 268 76| 76 6 ERE 0% |
32800 (T 5 3 864 | 54 54 11| EiE 0|
34300 72 i 40 8,640 1,080| 1,080 1,080 KEXK 8 —= |
34400 k= k ) L 24 1,512 324 216 216 FEA 67 —A |
34460 3=k kX % L 6 4,001 135 135 132 BBIRE  30/5v7 |
34100 K : 45 8,85 1,080| 1,080 756 | HI 94—
34100 H/I B 10 3,456 | 1,728| 1,728 1,728 U 2l — =
34571 A7 U A (FR) 2 1,728 e 173 173 |85 1018

34572 TV H (H) 2 1,728 173 173, 173 ##[E 1018

36200 &% B3 50 14,040] 2,808] 2,808 2,808 REF 54— =x
Y3027 Ly Ki-Ehx , 5 918 216 162 162 ==2—3U— 5% v K

| F R

33400 L # % 6 ©1,404|  1,404| 1,404 1,404 E% 1r—R |
33400 L& 12 2,074 86 86 86 | ¥ 241#

33410 |H=—1F A L 6 243 11 5 5 ¥ 301

33600 <k Y 0 432 | 216 216 216 @@ 248 T
38100 A LU 4 1,728 43 43 43 HIE 40,5y
38100 A LW 7=1F ‘ 6 1,944 | 43 32 27 | BeIR 60735y 7
31310 AP 5| 1, 890 76 76 76 t&[H 2548

31500 /A B 5] 1,890 6 76 76 | t& M 254

32500 ZoiE 1| 324 54| 54 11 K% 103

34800 B< 5 ' ‘ L 6 648 11 11 11 HEA 60% v K
37560 BHIT ‘ 1 3,240 540 540 540 K4y 63y 2
38300 728 = | 1 216 22 22 22 Bl 104

38521 S22 Lo UE i 3 3, 240 108 108 108 1@ 304%

Y4008 /T RBAA . 5 3, 456 216 216 216 fEA 16/5y 7 |
49100 NFF 12 3,888|  3,888] 3,888 3,888 7 UEL 14—
44700 Fx Y — 5 4,147 302 302 216 | (L 1675y 7
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